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-3J13 30,000 = 28% = 12& 10,080
-2 AlE 30,0003 = 28H =« 23| 1,680
OFLUNXNEZIY 8L ME2 MEZ
7,000& * 404 * 128 336
OxsZdHEs XA 6,400,000& 6,400
02 2324l 900 900 0
OFUXXEEH HMASHATH KRAE=H
900,000& * 1042 900
301 et a = 2,700 2,700 0
MIIEEE=3 2,700 2,700 0
O=F2XX XNHEH WFE E&4= 2,700,000 2,700
sclgEas I 131,690 131,690 0
301 et a3z 131,690 131,690 0
05 8% -0 -tHESEHS 131,690 131,690 0
Ool&=¢ 124,640
-Jl2sdg 200,000 = 38Y » 12& 91,200
-&0= 200,000& = 38H =« 23| 15,200
-slola sy
20,000& = 38H * 23 * 123 18,240
ostazgaa 50,000& = 141 = 13 7,050
AL X2 9,580 9,580 0
301 et d = 9,580 9,580 0
04 HtSLHUHAH XA 9,580 9,580 0
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,000% = 4% » 1JHOH = 365€ 4,380

= g 100,000& * 1JHCH = 12& 1,200
PNE=E NN 4,000,000& * 1JHCH 4,000
SSANE |2 93,969 93,348 621
101 1Al 10,030 8,619 1,411
04 JIZtHZ22 S+ 10,030 8,619 1,411
OAIIXIEHl & S3Ad2e A2 10,030
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OdJletd2tel =2 100,0008 » 128 1,200
OZ=0rAS3HE L2
1,500,000 = 13 1,500




R T
Hal: DIAZAH(LRY)
SRl QIREAN Y FHEX XS (er:@e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OrgANENEEa2e U ++8
600,000 * 13 600
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~HARE L FAXRE 40,0002 * 122 480
SHIMSAAE B3
60,0002 * 12 » 128 720
B 10,0002 * 23] 220
SEA Y FURNME REYSABE
80,0002 * 122 960
~FONKME QEHY ASE
30,0002 * 122 360
oozl 6,000
Lol 2 4| 12,0008 * 5AI2F * 1002 6,000
OA&ZH KX 22l 20,340
~ASKXHI(1,814m) 4,000, 0002 4,000
-HEBE SERX 500,0002 500
“HAS2E B 270,008 * 3674 £ 9,720
-HlAZAAE ZH) 500,0008 * 102 500
03I 42 2 REPY 100,008 « 304 300
&I R 220,008 * 16CH 3,520
SAIAE o012 FA
10,0009 * 18CH * 13l 1,800
Ot et 3.945
~AHEES 2,605,008 + 14 2,605
XYAAMLEER 70,0008 « 1CH * 23] 140
-~ EE=NY MIIZ 1,200,008 * 1CH 1,200
Oelgiol M8 PC OEHY AEE
30,0002 * 122 360
OBM ZZ4+ ST 2,000,0002 2,000
206 X 2 bl 1,000 1,000 0
01 M2 bl 1,000 1,000 0
250t 24 ML 1,000,000%! 1,000
307 2120l & 5,484 5,484 0
05 BI2teIEt 3 5,484 5,484 0
ORUAHIAIAE (HA & 01 BHH) 4,524
~EAL Y FOINAME (SAUA TE)
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-0reI B eI F 77,0002 * 12% 924
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201 Bt H | 2,400 0 2,400
01 AP 22l Yl 2,400 0 2,400
OXNYGMIBEENG S S =4
20,000& » 104 = 123 2,400
SHARDAIGFA(Z=H) 349,936 277,343 72,593
AR 2AIEFA 349,936 277,343 72,593
OIRAHZE L A7F2AMY 272,936 220,972 51,964
401 AIEHIL 20| 272,936 220,972 51,964
01 Al&Z Bl 257,000 205,000 52,000
O2=4e| =2 X2 (L=120m) 15,000,000& 15,000
OStE 12| OtAE XM 2] (L=400m)
30,000,000& 30,000
OQ8&He| OFAE DM 2] (L=430m)
25,000,000& 25,000
OF&2e| OtAZE DM 2] (L=620m)
30,000,000& 30,000
OAr=22l =2 Jdl & otAZE HMN LI (L=7
Om) 30,000,000& 30,000
OgaHiel 52 2 2 (L=200m) 24,000,000& 24,000
o222l s2E & (L=150m) 18,000,000& 18,000
o222l &2 &4l (L=100m) 10,000,000& 10,000
O2AZAME XNE 5 s52E9H 5,000,000 5,000
OEZ & A8 KXl 50,000,000& 50,000
OFHDAEME JI24% X 22ldl 10,000,000& 10,000
REZ ¢ otaH )| XY
10,000,000& 10,000
03 Al& 201 Y] 15,936 15,972 A 36
OME &Y Xz 5,000,000& 5,000
Oz & ot&A-l &4 fdx= 10,000,000 10,000
OARS ZO=AANY 220
130,000,000& * 0.72% 936
22 XHAMY 22,000 6,371 15,629
206 M= Hl 10,000 4,371 5,629
01 X2t 10,000 4,371 5,629
OZM,Z28 2 Hz F¢ 5,000,000 5,000
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401 Al HI YL 2 0HHI 12,000 2,000 10,000
01 A& HI 10,000 0 10,000
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2,000,000 2,000
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401 Al Bl 2 0HHI 55,000 50,000 5,000
01 A& HI 55,000 50,000 5,000
O3 1,20 LED H&2X™H &KX 30,000,000& 30,000
OZ==stn g&, 23w w2 ¥selJ|
25,000,000 25,000
MUY (A2) 124,492 121,117 3,375
Jl2dgl(2=sH) 124,492 121,117 3,375
Jl23Hl 124,492 121,117 3,375
201 Bt A H| 62,232 60,997 1,235
01 AFR2 22l Yl 43,320 42,410 910
O L(L=2Y|) 14,520,000& 14,520
Oget2H| 6,500,000 6,500
O3&Hl 5,740,000& 5,740
O=AI Xtz 200,000& * 1CH *~ 12& 2,400
O™ EY APE FH| 14,160
-ZelZelH 8,800
- E 440,000 * 2001 * 45 x 23] 7,040
== 440,000& * 200 * 23] 1,760
-etITely 200,000& = 1100 * 23] 4,400
“2EAI(EHYEZ) 200,000 ~ 1CH = 33 600
-FAX 120,000& ~ 104 = 33 360
02 35244l 18,912 18,587 325
O2222 ¢ MAM(RE22) 16,000, 000& 16,000
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-2 AHD| 15,000,000& * 100 * 2% 300
-FAX 600,000& * 1CH * 2% 12
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01 J|22HLR=AH| 6,600 6,600 0
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O&XJ A& & AH| 40,000& * 199 760




g

Ar —

A0 Bl

=4l

o ¢

30 -
&J 0K &0
Ar g0 M

U

A 600

A0
Klo
E
E=]
o
&
An
WH3r
uilEd
RS
o o
o o
© ©
© o
aor
<
(=
il
Y
or -
) &
Y] S
c s
3 8
=
I+
=
. -
= |z &
[ =TS
o Lk ok
— |o+ a
m.ﬂ 50 80
O 1w o
B (7R3
"l * I+
R0 I O
: S
g
I+




